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20238 =0ila eI S
S 81
A S« Morze|(Letssyy/eey)
Celr sl AI2el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
1 3,762,340 4,325,780 563,440
S ¥ Tt (LS ST/ LBHT) 3,697,340 4,239,660 ABA2,320
A 2tel 293,560 277,360 16,200
AE2te] 116,960 115,960 1,000
201 fer= 3| 100,460 99,460 1,000
01 At 2|l 86,960 85,960 1,000
OZEt=EH| 18,000,000& 18,000
OZLA - BEMT Fo=
10,000,000& 10,000
o3& Ul === 5,000,000& 5,000
OM2NE HE 9= & M=
13,000,000& 13,000
Oo=gHl 3,000,000 3,000
OJILMZHOI SHAIAEY 0128
330,000& * 122 3,960
CENENC IS
150,000 x10E 203! 30,000
OZUAANRIY DT HH 42
1,000,000 1,000
OZLHEAY 28 3,000,000& 3,000
2 s5=34l 13,500 13,500 0
03323 € MAl S 1,500,000 1,500
O3HAHNSFA WEES BE82
12,000,000 12,000
202 04| 12,000 12,000
01 =LHO LI 12,000 12,000
OZ2E&0H 12,000,000 12,000
203 HR=H] 3,000 3,000
03 A=A FAIH| 3,000 3,000
OXZE & A & FFA
2,000, 0002 2,000
OEAZZ L BRUMDR| ALEX
1,000,000& 1,000
307 elztol & 1,500 1,500
12 Q2RI g =] 1,500 1,500
OZAANFAR I DY)
1,500,000& 1,500
Hlefete| 176,600 161,400 16,200
201 fer23| 175,600 160,400 16,200
01 AtR2t2|HI 45,600 36,000 9,600
Odgt+=H| 20,000,000& 20,000
OYEZ1 2gHl S 10,000,000& 10,000
O3A S Ht2el T2 AIZ2=2
800,000& 122 9,600
O=EH| 6,000,000& 6,000




SA: 3D
A S« Morze|(Letssyy/eey)
Celr sl AI2el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 S5=g4l 130,000 124,400 5,600
o38xtg 2= (EA) 100,000,000 100,000
ONSIAN & BZNHFES
2,500,000 2,500
OXEHA =2 1,000,000 1,000
OJIEt MAIS L= 1,000,000 1,000
Oxtgr= Al 7,500,000& 7,500
OZS32eIRFIDI| S/WS X 2=t
3,500,000 3,500
O=Z2CIRFIDI| EH 20
1,500 *5,000HK 7,500
OSZZCIRFIDII HMW(2IT DI, 23D R X E=
] 7,000,000& 7,000
207 ARl 1,000 1,000
01 = 1,000 1,000
O3A & E VAN D=8 EY
1,000,000& 1,000
SFMAE 2el 67,300 260,500 193,200
SRME 2] 55,300 248,500 193,200
201 223 45,300 38,500 6,800
01 At22t2ltl 40,000 34,000 6.000
OS=M = =3 12,000,000 12,000
OF)BHSENY =& =42
6,000,000& 6,000
OZEHEI} =2 12,000,000 12,000
OZ3F ML 2HIE =8 8,000,000& 8,000
Oo=gH| 2,000,000& 2,000
2 35234l 5,300 4,500 800
O03E2= MAl 900,000 900
Oxt& =Xl 900,000 900
OS= ML A2 &l =XIb]
3,500,000& 3,500
401 Al HIZL 201 10,000 210,000 A.200,000
01 Al&H| 10,000 210,000 200,000
OAlIFIHL 2] SE3H AFY
10,000,000 10,000
A=A D] 12,000 12,000
201 er2 3| 9,000 9,000
01 AtR2t2|HI 9,000 9,000
OAs ez & I 250 =48
5,000,000& 5,000
o4s S S€2 € AN
3,000,000& 3,000
OAs A BE 35 & 288
1,000,000 1,000




2A: HD
B 5] U AR (UNBRHE /LY
Cel: SRIMAE 2t EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
301 LPBNZ 3,000 3,000
14 JIEt2 43 3,000 3,000
OAIRTHAED] S4 A2
3,000,000& 3,000
A2l 3,336,480 3,701,800 A365,320
HFAMAIES 22| 1,404,000 1,853,000 449,000
201 L2 | 23,000 23,000 0
02 S=29| 23,000 23,000 0
OHBA NMHSHO(IBS) RAI 2=
23,000,000 23,000
307 212+01 A 881,000 880,000 1,000
05 QIZtRES 881,000 880,000 1,000
OFAt2e| EY(=2F .23, 22644
881,000,000& 881,000
401 A& B2 20HY| 500,000 950,000 A450,000
01 AlEHI 500,000 950,000 A450,000
OAIEAL AIEE RAI 22l & B+
100,000,000& 100,000
OAEAL RISHIO (&, =Y) &4 HA
70,000,000& 70,000
OAIEAt BLUOHHEAICH 2
100,000, 000& 100,000
OAIEA &5 2ARE SIAHEE X
60,000,000& 60,000
OAEA JIHEH 4582 &4
30,000,000 30,000
OZFVMBXIAY =X 22U
20,000,000 20,000
OAEA == S20] Wi
120,000,000& 120,000
MR ES 1,902,480 1,713,800 188,680
201 B2 AL| 1,742,480 1,598,800 143,680
01 AtR222ltl 137,480 108,800 28,680
OFA BEFE 228 ¢
15,000,000 15,000
OB A & 30,000,000& 30,000
OFAI 283 HA 5,000,000& 5,000
OHA AYAIE HUHH HY
10,000,000 10,000
OFAL SZIEN) RRE=
5,000,000& 5,000
OF=J| Rl el =2
15,000,000& 15,000
O3t&EA HI4D|I | 22l ==2
1,000,000& 1,000




SA: 3D
A S« Morze|(Letssyy/aey)
el ARz EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZZHE HE OIAHIE
20,000,000& 20,000
OAIEAL SEETHEIE F
20,000,000& 20,000
OANEA & S 2N 222
10,000,000 10,000
OAIEAL S)1&d 8 Sit=
4,680,000& 4,680
(CF=E 1,800,000& 1,800
02 S3=gHl 1,605,000 1,490,000 115,000
ONLMHESHAL(SE2,ANEE, 3 HS)
790,000,000 790,000
OFEA 2B2Z(HIIR3)
450,000,000& 450,000
OFEA B3RS (&ot+5)
45,000,000 45,000
OFHAL BBRB(ZAIIHAT)
100,000,000 100,000
OEZINERES () 1,000,000 1,000
OZEMN & 7Y 5,000,000 5,000
OHPI= Ot + 2,000,000 2,000
QJIEt E858= 2,000,000& 2,000
OFAL Alg= R 22|
150,000,000 150,000
OZAL AIE= RAI 2telt]
10,000,000 10,000
OFAL 22 ZAH UiHl +=&H|
10,000,000& 10,000
OHM LBARIS DI U &4
10,000,000& 10,000
OHHAIE Xt 2HI| RF|
2,000,000 2,000
O&EHAIZ Xt &2&)| B
5,000,000& 5,000
O=SLSHA MOHEX 2= & WKl
5,000,000& 5,000
OFA U= dte 2E 5,000,000& 5,000
OFA 22 HHol UE 2=+
5,000,000& 5,000
OFA WuE BX M| 24
5,000,000& 5,000
oxgrsU S 1,000,000& 1,000
Oxtg il 7 &€ 225 Fd|
2,000,000& 2,000
206 M=l 75,000 75,000
01 MHZHI 75,000 75,000




2A:

21 A4 1t

3 S« Marze|(LEtssy/derdE
el ARz EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFA dHeE S0 2H WAl
15,000,000 15,000
ods)| H-4E Y 5,000,000& 5,000
Od=g 2N, &M 2
10,000,000 10,000
OJIAZHl MM+ 10,000,000 10,000
oAd= 02N - 10,000,000 10,000
OFIIX 7 10,000,002 10,000
OLYXH 7Y 10,000, 0002 0,000
OBAM HZE XS 5% 7Y
5,000,000& 5,000
405 KHAHE S| 85,000 40,000 45,000
01 AL SEH S| 85,000 40,000 45,000
ONEA & ASE 9T 72
35,000,000 35,000
OXZIHEN THE A28 IS +
30,000,000& 30,000
SAE ZALHIS 72 2 KX |
10,000,000& 10,000
OAIEAL 2t8 4 == "ol &
5,000, 0002 5,000
ONEA ARA &5 F2)| 7Y
5,000,000 5,000
SHs FAl2 30,000 135,000 105,000
201 Eer23 | 30,000 30,000 0
2 352484l 30,000 30,000 0
OS8sS A |4l 2l 20,000,000 20,000
OANdE SEHIEZ 2Z 3|
10,000,000 10,000
Y 2AHHI(SH ) (O1EHIIE}) 65,000 86,120 A21,120
=34 65,000 86,120 A21,120
Jl=3H] 65,000 86,120 221,120
201 er23 | 8,000 8,000 0
01 At2teltl 8,000 8,000 0
oget=dl 8,000,000& 8,000
202 04dl 52,800 73,920 21,120
01 2L AL 52,800 73,920 A21,120
OZLHEHN 200,000 x22H *12& 52,800
203 =4l 4,200 4,200
M EASHLRFAH 4,200 4,200
ORNSHERFAHI 350,000& * 122 4,200




